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 5. Two objects, P and Q, of the same mass are dropped from the same height.

The graph shows how the vertical velocities of the two objects vary with time for the first 

40 s of their fall.
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A group of students make the following statements based on information from the graph.

 I The terminal velocity of object P is 50 m s
−1.

 II Object Q reaches its terminal velocity at 10 s.

 III At 40 s, both objects have fallen through the same distance.

Which of these statements is/are correct?

A I only

B I and II only

C I and III only

D II and III only

E I, II and III

 6. The total mass of a motorcycle and rider is 250 kg.

During braking they are brought to rest from a speed of 16 m s
−1 in a time of 10·0 s.

The maximum energy that could be converted to heat in the brakes is

A  2000 J

B  4000 J

C  32 000 J

D  40 000 J

E  64 000 J.


